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Identify W, and W, for each situation

A.  An object is pushed up a ramp. There is friction
onthe ramp. |, —w, = Ee

Vvin e b) Vvoul = E { 4

B. An object is against a compressed spring. The
spring is released and pushes the object, but the
object rubs against the ground.

ﬂ)_ggl_ woui_EE_

C. An Ob_]CCt is launched into the air with an initial
velocity. It goes to the top. There is air friction.
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Wi, = Wou = 'E: ﬁn

D. An object is at the top of a ramp. It slides down the ramp.
There is friction.
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Win = ?-C q'p Wou = E <

E. An object is accelerated by a force, but because of friction

it is not moving as fast afterwards as it should.
"I —\Wy o

L Vvout = ‘E_P

F. An ob;ect 1s dropped. lhere is air friction.
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A 6 kg object is at rest on a table. It is pushed for 20 m with a

A Wo= W =Fd = 3(z0)=607
A /%) = L9
B, Wy = E}; —ZVVH :3%( é:/\\é::i;[,‘h> ({O
C. Calculate efficiency.
ITIE'/ y z :_Zﬁ e gog/o
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D. How much energy was lost to friction? |7 J (ZO °/|,:_)

3 Nforce. It is moving 4 m/s afterwards. O+ = Er

W = %: &
A 2 kg object is moving 6 m/s. It compresses a spring) 1 meter
that has a spring constant of 8 N/m. EV, Wy = ({8 |

A W= F = %{?\)(61/\ =367
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B. Wmn= rf: :_rli{8'>ﬁ :%J -—~ka
C. Calculate efficiency.
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D. Where did the energy go? Fvrc Fiov 1 ggay“ivzg;,

A 3 kg object falls off an 8 mtall ledge. Due to friction it is
only going 11 m/s at the ground. _L.,FJ = Ek.

A Wy=E = g h =3y R)= 2403
B. Wou= [, = —Lwmy¥= L (z)@{ﬁ: %15 T

C. Calculate eﬁ“xciency
8.5~ 35%
—z/(.k O
240 -1815

D. How much energy was lost to friction? 58.5]

A 2 kg object is pushed up a 12 m long ramp by a 7 N force to
get the object to the top of a 3 m tall table.

A we= W = FR)= 847

B. an= Efﬁ) - W?j‘/]’—“ Z [l()})(\'} )_: 6,.0,5,,

C. Calculate efficiency.

co = 7,( O/o

=4

D. How much thermal energy was created? 7L 7T

A 6 kg object is at the top of a 2 m tall ramp. Due to friction it

A 6 kg object is moving 1 my/s. It is pushed by a4 N force for

is only moving 5 mv/s at the bottorn. - 20 m. Itis going 5 m/s afterwards.
A W= Ep ﬂ”ﬁh al 6(10)2 = \2o° A W= =4() =807
B Wau= £, = L(6)25 = T° gl B, W= AE,= LU HOT™= d(fs\?i:? -
C. Calculate efficiency. C. Calculate efficiency.
5L = gt 32 = 0%
2 E
D. How much thermal energy was created? e 4 D. How much thermal energy was created? : 4
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